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11 1.73 | 1.40 X 1.73 2.42 m?2
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7 0.80 | 0.15 X 0.80 0.12 m3
8 1.73 |  1.40 X 1.73 2.42 m3
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15 17.10 | 0.00 X 17.10 0.00 m3
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i @ 0.178 m3

(. B L) 0.178 X 1.10 0.196  t
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¢ 200 150 ¢ 150 (1/4x 7t x0.20072-1/4%x 7t x0.16572) x0.15 m3 0.002
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4 i B = ==X va e i1
270 —hEIFL HIFLAZE 90mmbL_E100mm A
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HIIFLEE 180mmblL F200mmbL
HFLZ%E 50mmPh F200mmbLl F FL 1.0
HIIFLAE 180mmlL F200mmbL T
HIFLIE 200mmPLl FE400mmbL £ 1.0
VANV L
$ 100X 2501, & T 1.0
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1:3 (1/4X 7t X0.100°2-1/4X 7 X 0.060°2) X 0.25 m3 0.001
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VA VHERD
1:3 (1/4X 7t X0.20072-1/4X 7 X0.1652) X 0.15 m3 0.002
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HIVP ¢ 150 X4.00m +0.264+2.0+0.3+0.3+0.5+4.0 X
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IE Rl - R X5 B Lig] e
AV U—FERERLT HEEEY m3 0. 448
Lavsy—rERELT EFEED m | -
KNSRy FRELT EFEED m3 0.577
ik kg 228
+T KiELE A—TARHI ) m3 19.5
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1 ary)—rEELI
Vi= 1.600 x 0.700

(2) NS Ry FEUELT

Vi= 1/2 x( 1.140
V2= 1/2 % ( 1.040
V3= 1/2 % ( 0.150
(3) SM#f
Vi= 1.0928 x 0.5464
V2= /8 x 1.0928
V3= — m/4 x 0.8128
V4= T x 0.8033
Vb= 0.150 x 0.130
V6= 0.150 x 0.5419
Vi= 0.150 x 0.2245
V8= 0.400 x 0.290
W= 0.029 x 7850
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EE WTERE | THNEE 8
(m) (m?) (m?) (m*)
0.73 0.00 3. 21 2.3
1-1 2.80 6. 41 6. 41 17.9
0.44 0.00 3. 21 1.4
Bt 21.6 = 21.6 m°
RiEY L& V-1= KRiEY T8 = 21.6 m
JEE iR 422 Bk V-2= — (1) avsy—rBRIELI LY = -0.448 mw
Fiik=g 2 V-3= — gm/4 x 0.8128 *
x( 1.500 + 1.176 + 0.450 ) = -1.622
= 19.5 m
2. 1BRL (FERIB W1=4m)
EE WTERE | THNEE 8
(m) (m?) (m?) (m*)
0.73 0.00 3. 21 2.3
1-1 2.80 6. 41 6. 41 17.9
0.44 0.00 3. 21 1.4
&5t 21.6 = 216 m

3.5k )—k (t=100mm)

A=

4.000 x 4.500

18.000 m2
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Vi= 1.600 x 1.300
V2= 2.000 x 0.200
V3= 1/2 x( 1.600
V4= 1/2  x 0.370
Vo= — 1/2 x 0.875
V6= — m/4 x 0.8128

(2 HLaryJ—rFRELT

V= 2.200 x 3.910
3) NTIRy FEUIELT
V= 1/2  x( 0.200

1.410

1.410

2.000

0. 366

0.870

1.410

0.100

0.508

+
+

) X

) X

DR h—TOvYH
(NS Ry FErmEE)

NS Ry FERL=3900

2.300 ) = 7.7117 n’
2.300 ) = 1.484
0.100
1.410 + 2300 ) = 0.668 m
1. 600 = 0108
1. 600 = -0.609 m
1200 + 0.655 ) = -1.694 nm’
V= 7.674 w
= 0.860 m
0.880 x  3.900 =  1.215 o
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AV U—FERERLT HEEEY m3 2.559
HLavsy—rERELT EHEEY m |
e ke | 0 -—
T KiEtE F—T iRHAI E’}‘ m3 80.3
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&8 BAEERAs m2 0.0 |Z/E50mm
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JEhR R RR
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2.BRL

EE T E A T E 8
(m) (m?) (m?) (m*)
0. 81 0.00 11.43 9
1-1 3.20 22.85 22.85
1.10 0.00 11.43
At = 95.0 m°
V-1= KRiEY T8 = 95.0 m°
V-2= — §3. DE7YAH—TOvYH
(1) avsy—rERELIELY = -7.674 n’
V-2= — §4. EE7 H—TOvY
(1) avsy—rERELIELY = -2.559 m’
V-3= — 7w/4 x 0.8128 *x ( 1.768
+ 1.200 + 4.200 + 1.500 ) = -4.498 n’
= 80.3 m’
(FZRIB W1=4m)
EE BT E TR T E +8
(m) (m?) (m?) (m®)
0. 81 0.00 11.43 9.3
-1 3.20 2285 2285 73.1
1.10 0.00 11.43 12.6
&5t 95.0 = 95.0 m
(= JZ50mm)

54.0 m2



